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ÍÛæ̃ Û¶ÛÛ :   (1) ¾ÛÛ•ýÛÛ ¾Ûä›÷¼Û¶ÛÛ Í¸ÛÌ¤ø ›÷ÈÛÛ¼Û …¸ÛéÜ“Û©Û ™öé. 
Instructions :  Exact answers are expected.  
    (2) ›÷ÄõÁõà •Û¨ÛªÛà ›÷ÈÛÛ¼Û¶ÛÛé ½ÛÛ•Û •Û¨ÛÛÉÛé. 
     Required calculations will be considered as part of the answer.  
    (3) ¸ÛóÊ¶Û¸ÛªÛ¾ÛÛ× þùÉÛÛÙÈÛéÅÛ ïõÅÛ¾Û/¸Ûé¤øÛïõÅÛ¾Û …ÛÈÛïõÈÛéÁõÛ µÛÛÁõÛ 1961 ¾Ûä›÷¼Û¶Ûà ™öé. 
    The section/sub-section mentioned in the question paper are 

according to The Income Tax Act 1961. 
 
1. (a) ïõÁõ …ÛýÛÛé›÷¶Û¶Ûé …ÍÛÁõ ïõÁõ©ÛÛ× ¸ÛÜÁõ¼ÛÇÛé ›÷¨ÛÛÈÛÛé. 7 
  State factors affecting Tax Planning.  
    …¬ÛÈÛÛ/OR 

  ÈýÛÜî©Û ÁõÐéü¥øÛ¨Û¶ÛÛé þùÁõš›Ûé …¶Ûé ÈýÛÜî©Û¶Ûà ïõÁõ¸ÛÛªÛ©ÛÛ ¶Û‘õà ïõÁõÈÛÛ ¾ÛÛ¤éø …ÛÈÛïõÈÛéÁõÛ µÛÛÁõÛ¶Ûà 
›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé. 

  State the provisions of Income Tax Act for determining the residential status of an 
individual assessee and incidence of Income Tax. 

 (b) ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé : (•Û¾Ûé ©Ûé ¼Ûé) 4 
  Answer in brief (any two) :  
  (i) …ÛÈÛïõÈÛéÁõÛ …ÛýÛÛé›÷¶Û¶Ûä× ¾ÛÐü«ÈÛ ›÷¨ÛÛÈÛÛé. 
   State importance of Tax Planning. 
  (ii) ÜÐü¶þäù …ÜÈÛ½Ûî©Û ïäõ¤ä×ø¼Û (HUF) ¶ÛÛ ÁõÐéü¥øÛ¨Û¶ÛÛé þùÁõš›Ûé ÍÛ¾Û›ÛÈÛÛé. 
   Explain residential status of HUF. 
  (iii) ïõÁõ˜ÛÛéÁõà¶ÛÛ ÅÛ“Û¨ÛÛé ›÷¨ÛÛÈÛÛé. 
   Mention characteristics of Tax Evasion. 
 (c) …éïõ ïéõ ¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 3 
  Answer in one or two lines (any three) :  
  (i) ¸Ûó©ýÛ“Û ïõÁõÈÛéÁõÛ …¶Ûé ¸ÛÁõÛé“Û ïõÁõÈÛéÁõÛ¶ÛÛ× þùÁéõïõ¶ÛÛ× ¼Ûé-¼Ûé ŠþùÛÐüÁõ¨Û …Û¸ÛÛé. 
   Give two examples of Direct Tax and Indirect Tax. 
  (ii) ÜÍÛÜ¶ÛýÛÁõ ÍÛà¤øà¡ö¶Û …¶Ûé ÍÛä¸ÛÁõ ÜÍÛÜ¶ÛýÛÁõ ÍÛà¤øà¡ö¶Û¶Ûà ïõÁõ¾ÛäÜî©Û ¾ÛÛ¤éø¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé 

›÷¨ÛÛÈÛÛé. 
   State the provisions of the Income Tax Act regarding basic exemption for 

senior citizen and super senior citizen. 
  (iii) ÜÈÛþéùÉÛà …¶Ûé ÍÈÛþéùÉÛà ï×õ¸Û¶Ûà¶ÛÛ …ÛÈÛïõÈÛéÁõÛ¶ÛÛ ïõÁõ ïéõ¤øÅÛÛ× ™öé ? 
   State the tax rates for domestic and foreign company. 
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2. ›÷ýÛ ¸Û¤éøÅÛ ©ÛÛ. 1-10-2008¶ÛÛ ÁõÛé›÷ …ÛÁõ©Ûà ÜÅÛÜ¾Û¤éø¦ø¾ÛÛ× ¾ÛæÇ¸Û•ÛÛÁõ ` 11,000 – 1,000 – 20,000 ¶ÛÛ 
•Ûóé¦ø¾ÛÛ× ¾Ûé¶Ûé›÷Áõ ©ÛÁõàïéõ ›Ûé¦øÛýÛÛ. ¸ÛÛ.ÈÛ. 2012-13 þùÁõ¾ýÛÛ¶Û ©Ûé¾Û¶Ûà ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ¸Û•ÛÛÁõ¶Ûà 
ïõÁõ¸ÛÛªÛ …ÛÈÛïõ •Û¨ÛÈÛÛ¶Ûà ™öé. 14 

 (1) ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä× ¾ÛæÇ¸Û•ÛÛÁõ¶ÛÛ 40% ¾ÛÆýÛä× ›÷é ¸Ûíéïõà 50% Áõïõ¾Û ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø¶Ûà •Û¨ÛªÛà ¾ÛÛ¤éø 
ÅÛéÈÛÛýÛ ™öé. 

 (2) ¾Û¶ÛÛéÁ×õ›÷¶Û ½Û¬¬Ûä× ¾ÛÜÐü¶Ûé ` 600. 
 (3) ©Ûé¾Û¶ÛÛ× ªÛ¨Û ¼ÛÛÇïõÛé ¾ÛÛ¤éø ¼ÛÛÇïõþùà¥ø ¾ÛÜÐü¶Ûé ` 1200 ÅÛé”Ûé ÜÉÛ“Û¨Û ½Û¬¬Ûä×. 
 (4) •ÛéÍÛ, ÈÛà›÷Çà, ¸ÛÛ¨Ûà¶ÛÛ ` 18,000 ï×õ¸Û¶Ûà…é ˜ÛæïõÈýÛÛ ›÷é ¸Ûíéïõà 1/3 µÛ×µÛÛ¶ÛÛ ÈÛ¸ÛÁõÛÉÛ ¾ÛÛ¤éø ™öé. 
 (5) ¼Û×•ÛÅÛÛ¶ÛÛ ˜ÛÛéïõàþùÛÁõ ©Û¬ÛÛ ¾ÛÛÇà¶ÛÛé ¸Û•ÛÛÁõ …¶Ûä’õ¾Ûé ` 3,000 …¶Ûé ` 1,400 þùÁõ ¾ÛÜÐü¶Ûé ï×õ¸Û¶Ûà…é 

˜ÛæïõÈÛéÅÛ ™öé. 
 (6) ÈÛ¦øÛéþùÁõÛ¾ÛÛ× (›÷é¶Ûà ÈÛÍ©Ûà 10 ÅÛÛ”Û¬Ûà ÈÛµÛä ¸ÛÁ×õ©Ûä 25 ÅÛÛ”Û¬Ûà ÈÛµÛä ¶Û¬Ûà) ÁõÐéü¥øÛ¨Û ¾ÛÛ¤éø …éïõ ¼Û×•ÛÅÛÛé 

…Û¸ÛéÅÛ ™öé. ›÷é¶Ûà ¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ …ÛïõÛÁõ¨Ûà ` 40,000 ™öé. …Û ¼Û×•ÛÅÛÛ¾ÛÛ× ` 3,50,000 ¶Ûä× ¾ÛæÇ 
Ýïõ¾Û©Û¶Ûä× ºõÜ¶ÛÙ˜ÛÁõ ÈÛÍÛÛÈÛà …Û¸ÛéÅÛ ™öé. 

 (7) ©Ûé¾Û¶ÛÛ ÈÛ©Ûà ©Ûé¾Û¶Ûä× œ÷ÈÛ¶Û ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û ` 8,500 ï×õ¸Û¶Ûà…é ˜ÛæïõÈýÛÛ ™öé. 
 (8) ©Ûé¾Û¶ÛÛ ¸Û•ÛÛÁõ¾ÛÛ×¬Ûà ¾ÛÜÐü¶Ûé ` 200 ÈýÛÈÛÍÛÛýÛ ÈÛéÁõÛé ïõ¸ÛÛýÛéÅÛ ™öé. 
 (9) ï×õ¸Û¶Ûà…é ©Ûé¾Û¶ÛÛ ÈÛ©Ûà îÅÛ¼Û¶Ûä× Ü¼ÛÅÛ ` 10,000 ˜ÛæïõÈÛéÅÛ ™öé. 
 (10) ¾ÛæÇ¸Û•ÛÛÁõ¶ÛÛ 15% ›÷é¤øÅÛà Áõïõ¾Û ¾ÛÛ¶ýÛ ¸ÛóÛé.º×õ¦ø¾ÛÛ× ©Û¬ÛÛ 50% ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬ÛÛ ÍÛÜÐü©Û¶Ûà Áõïõ¾Û 

©Ûé…Ûé ºõÛÇÈÛé ™öé. ï×õ¸Û¶Ûà …ÛÈÛÛ ¸Û•ÛÛÁõ¶ÛÛ 12% ›÷é¤øÅÛÛé ºõÛÇÛé …Û¸Ûé ™öé. 
 (11) ©Ûé…Ûé ïõÅÛ¾Û 80 C Ðéü¥øÇ ` 90,000 ÁõÛéïõÛ¨Û ïõÁõÈÛÛ ÍÛ¾Û¬ÛÙ ™öé.    
 On 1-10-2008 Jay Patel joined as Manager in Arti Ltd. in scale of ` 11,000 – 1,000 – 

20,000. Find out his taxable income from the salary for the P.Y. 2012-13 from the 
following details given : 

 (1) 40% of basic pay is received as dearness allowance. (50% of which is to be 
considered for the calculation of Provident Fund) 

 (2) ` 600 per month is paid as Entertainment allowance. 

 (3) Education allowance given is ` 1,200 per child per month for three children. 

 (4) The company has paid ` 18,000 as gas, Electricity and water charges of which 1/3 
is for business use. 

 (5) The company has also paid salary of watchman and gardener @ ` 3,000 and                  
` 1,400 per month. 

 (6) A residential bungalow in Baroda (population of more than 10 lakhs but less than         
25 lakhs) is provided by the company. Municipal value is ` 40,000. Furniture 
costing ` 3, 50,000 has been provided by the company. 

 (7) The company has paid his Life Insurance Premium of ` 8,500. 

 (8) ` 200 per month is deducted as professional tax from his salary. 

 (9) The company has paid his club bill of ` 10,000. 

 (10) He contributes to recognized provident fund at 15% of the basic salary plus 50% 
dearness allowance. 

  The company’s contribution is @ 12% of such salary. 

 (11) He is able to invest ` 90,000 U/S 80 C. 

…¬ÛÈÛÛ/OR 
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 (a) ËÛà ÁõÛ¾Û ¼Ûé ¾ÛïõÛ¶Û µÛÁõÛÈÛé ™öé. ›÷é¶Ûà ¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 7 
   

ÜÈÛ•Û©Û 
(ÁõÐéü¥øÛ¨Û ¾ÛÛ¤éø 
½ÛÛ¦éø …ÛËÛýÛ)  

` 

(…×•Û©Û ÈÛ¸ÛÁõÛÉÛ 
ÍÈÛÛËÛýÛ)  

` 
1. ÈÛÛ›÷¼Ûà ½ÛÛ¦ä×ø 1,920 520 
2. ¾ýÛäÜ¶Û. …ÛïõÛÁõ¨Ûà 1,800 400 
3. ¾ÛÇÈÛÛ¸ÛÛªÛ ½ÛÛ¦ä×ø (¾ÛÛÜÍÛïõ) 200 – 
4. ˜ÛæïõÈÛéÅÛ ¾ýÛäÜ¶Û. ïõÁõÈÛéÁõÛ 360 10% 
5. ¾ÛïõÛ¶Û ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û 40 20 
6. ¼ÛÛ×µÛïõÛ¾Û ¾ÛÛ¤éø ÅÛàµÛéÅÛ ÅÛÛé¶Û¶Ûä× ÈýÛÛ›÷ 80 120 
7. ¼ÛÛ×µÛïõÛ¾Û ¸ÛæÂ×ú ¬ÛýÛÛ ©ÛÛÁõà”Û 1-4-2010 31-3-2008 
8. ¼ÛÛ×µÛïõÛ¾Û ÍÛ¾ÛýÛ þùÁõ¾ýÛÛ¶Û ˜ÛæïõÈÛéÅÛ ÈýÛÛ›÷ – 200 

  …ÛËÛýÛ ¾ÛïõÛ¶Û¶ÛÛ ½ÛÛ¦äø…Û©Ûé 10 ¾ÛÜÐü¶ÛÛ¶Ûä× ½ÛÛ¦ä×ø ˜ÛæïõÈÛéÅÛ ¶Û¬Ûà. (…ÛËÛýÛ ¾ÛïõÛ¶Û 28-2-13 ÍÛäµÛà 
½ÛÛ¦äø…Û©Û¶ÛÛ ïõ¼Û›Û¾ÛÛ× Ðü©Ûä×.) 

  …ÛËÛýÛ ¾ÛïõÛ¶Û ¾ÛÛ˜ÛÙ 2013 ¬Ûà ”ÛÛÅÛà ÁõÐéüÅÛ ™öé. 
  …Û.ÈÛ. 2013-14 ¾ÛÛ¤éø ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶Ûà …ÛÈÛïõ¶ÛÛ ÉÛàÌÛÙïõ ¶Ûà˜Ûé ïõÁõ¸ÛÛªÛ …ÛÈÛïõ¶Ûà •Û¨ÛªÛà ïõÁõÛé. 
   

  Shri Ram owns two houses, particulars of which are as follows : 

  Particulars 
(Let-out) 
Ashray ` 

(Self occupied)
Swashray ` 

1. Fair Rent 1,920 520 
2. Municipal valuation 1,800 400 
3. Rent receivable (monthly) 200 – 
4. Municipal Tax Paid 360 10% 
5. Insurance Premium on building 40 20 
6. Interest on housing loan for construction 80 120 
7. Date of completion of construction 1-4-2010 31-3-2008 
8. Interest on loan paid during construction period – 200 

  The tenant has not paid 10 months rent (Ashray was in possession of tenant up to 
28-2-13) 

  The house Ashray has remained vacant from March 2013. 
  Compute the taxable income of Shri Ram under the head income from house 

property for the A.Y. 2013-14. 
 
 (b) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÛ. ÈÛÌÛÙ 2012-13¶ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ¼ÛéÅÛÛ¶Ûà Ü¾ÛÅÛïõ©ÛÛé …×•Ûé¶Ûà ™öé : 7  
   

ÜÈÛ•Û©Û ¡öÈÛéÁõÛ©Û 
¶ÛÜÐü ¶ÛÛêµÛÛýÛéÅÛ 

Ü¦ø¼Ûé¶˜ÛÁõ 
”ÛÁõà²Û ©ÛÛÁõà”Û 1976-77 …Ûéî¤øÛé¼ÛÁõ 2010 
”ÛÁõàþù Ýïõ¾Û©Û  17,000 32,000 
ÈÛé˜ÛÛ¨Û ”Û˜ÛÛÙ 4,000 2,000 
ÈÛé˜ÛÛ¨Û Ýïõ¾Û©Û 2,50,000 45,000 
1-4-81 ¶ÛÛ ÁõÛé›÷ ÈÛÛ›÷¼Ûà Ýïõ¾Û©Û 25,000 – 

  ïõÁõ¸ÛÛªÛ ¾Ûæ¦øà ¶ÛºõÛ¶Ûà •Û¨ÛªÛà ïõÁõÛé. ÈÛÌÛÙ 2012-13 ¾ÛÛ¤éø¶ÛÛé ÍÛæ˜Ûïõ…Û×ïõ 852 ™öé. ›Ûé ©Ûé…Ûé ÁõÐéü¥øÛ¨Û 
¾ÛÛ¤éø ¾ÛïõÛ¶Û ”ÛÁõàþéù ©ÛÛé ©Û¾ÛÛÁõÛé ›÷ÈÛÛ¼Û ÉÛä× ÐüÉÛé ? 
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  The following are the details regarding the assets of Bela during P.Y. 2012-13 : 

 Particulars Jewellery 
Unregistered 
Debentures 

Date of Purchase 1976-77 Oct. 2010 
Cost of Purchase  17,000 32,000 
Sales Expenses 4,000 2,000 
Selling Price 2,50,000 45,000 
Fair Market Value on 1-4-81 25,000 – 

  Calculate Taxable Capital Gain. Index for 2012-13 is 852. What will be your 
answer if he acquired a new Residential house ? 

 
3. ÉÛéÁõ ÐüÛéÅ¦øÁõ ³ùÛÁõÛ ¼ÛÛé¶ÛÍÛ ÉÛéÁõ¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ïõýÛÛ ¸ÛóïõÛÁõ¶Ûä× ïõÁõ …ÛýÛÛé›÷¶Û ïõÁõÈÛä× ›Ûéˆ…é. ŠþùÛÐüÁõ¨Û ÍÛÜÐü©Û 

ÍÛ¾Û›ÛÈÛÛé.   14 
 Explain the Illustration the points to be taken in the consideration by the shareholders in 

respect of Bonus shares.  
…¬ÛÈÛÛ/OR 

 ËÛà ¾ÛÛéÐü¶Û ÜÅÛ. ¶Ûé …éïõ ¸ÛóÛé›÷éî¤ø ¾ÛÛ¤éø ` 57,00,000 ¶Ûà ›÷ÄõÜÁõýÛÛ©Û ™öé. ïõÁõÈÛéÁõÛ¶ÛÛé þùÁõ 32.445% ™öé. 
ÈýÛÛ›÷¶ÛÛé þùÁõ 15% ™öé. ›Ûé …¸ÛéÜ“Û©Û ÈÛÇ©ÛÁõ¶ÛÛé þùÁõ (i) 25% …¶Ûé (ii) 20% ÐüÛéýÛ ©ÛÛé ¾ÛÛÜÅÛïõà¶Ûà ¾Ûæ¦øà 
…¶Ûé Š™öà¶Ûà ¾Ûæ¦øà¶Ûä× ýÛÛé•ýÛ ÍÛ×ýÛÛé›÷¶Û ¶Û‘õà ïõÁõÛé. ˆÜîÈÛ¤øà þùÁéõïõ ` 100 ¶ÛÛ ©ÛéÈÛÛ ÉÛéÁõ¾ÛÛ× ÈÛÐêü˜ÛÛýÛéÅÛ ™öé. 

 ˆÜîÈÛ¤øà ¾Ûæ¦øà – Š™öà¶Ûà ¾Ûæ¦øà¶Ûä× ¸Ûó¾ÛÛ¨Û 
 (i) 100% – ÉÛæ¶ýÛ 
 (ii) 50%  – 50% 

 (iii) 33
1
3% – 66

2
3% 

       
 Shri Mohan Ltd. used an investment of ` 57,00,000. Rate of tax is 32.445%, rate of 

interest to 15%. Determine suitable combination of owner’s equity and debt equity if the 
rate of return is expected at (i) 25% and (ii) 20%. Equity will be divided in to share of 
100 each. 

 Ratio of Equity Capital – Debt Capital 
 (i) 100% –  – 0 
 (ii) 50%  –  50% 

 (iii) 33
1
3% –  66

2
3% 

…¬ÛÈÛÛ/OR 

 ¶Ûà˜Ûé¶ÛÛ …ÅÛ•Û ÜïõÍÍÛÛ…Ûé¾ÛÛ× U/S 115 JB ¾Ûä›÷¼Û ÅÛ–Ûä«Û¾Û ÈÛíéïõÜÅ¸Ûïõ ïõÁõ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà¶Ûà •Û¨ÛªÛà ïõÁõÛé : 
 (1) ÉýÛÛ¾Û ÜÅÛ. ÍÈÛþéùÉÛà ï×õ¸Û¶Ûà¶Ûà ïäõÅÛ …ÛÈÛïõ ïõÛýÛþùÛ¶Ûà ÍÛÛ¾ÛÛ¶ýÛ ›Ûé•ÛÈÛÛˆ ¾Ûä›÷¼Û ` 25 ÅÛÛ”Û ™öé. 

ïõÅÛ¾Û 115 JB ¾Ûä›÷¼Û ï×õ¸Û¶Ûà¶ÛÛé ˜ÛÛé¸Û¦éø ¶ÛºõÛé ` 105 ÅÛÛ”Û ™öé. 
 (2) ¾ÛÛéÐü¶Û ÜÅÛ. ÍÈÛþéùÉÛà ï×õ¸Û¶Ûà¶Ûà ïõÅÛ¾Û 115 JB ¾Ûä›÷¼Û ˜ÛÛé¸Û¦éø ¶ÛºõÛé ` 108 ÅÛÛ”Û ™öé. ïõÛýÛþùÛ¶Ûà 

ÍÛÛ¾ÛÛ¶ýÛ ›Ûé•ÛÈÛÛˆ …¶ÛäÍÛÛÁõ ïäõÅÛ …ÛÈÛïõ ¶ÛäïõÉÛÛ¶Û¾ÛÛ× ¸ÛÜÁõ¨Û¾Ûé ™öé. 
 (3) ›÷ýÛ ÜÅÛÜ¾Û¤éø¦ø, ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà¶ÛÛé ïõÅÛ¾Û 115 JB ¾Ûä›÷¼Û ˜ÛÛé¸Û¦éø ¶ÛºõÛé ` 103 ÅÛÛ”Û ™öé. ïõÛýÛþùÛ¶Ûà 

ÍÛÛ¾ÛÛ¶ýÛ ›Ûé•ÛÈÛÛˆ …¶ÛäÍÛÛÁõ ïäõÅÛ …ÛÈÛïõ ¶ÛäïõÉÛÛ¶Û¾ÛÛ× ¸ÛÜÁõ¨Û¾Ûé ™öé. 
 (4) …ÛÁõ©Ûà ÜÅÛÜ¾Û¤éø¦ø, ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà¶ÛÛé ïõÅÛ¾Û 115 JB ¾Ûä›÷¼Û ˜ÛÛé¸Û¦éø ¶ÛºõÛé ` 100 ÅÛÛ”Û ™öé. 

ïõÛýÛþùÛ¶Ûà ÍÛÛ¾ÛÛ¶ýÛ ›Ûé•ÛÈÛÛˆ …¶ÛäÍÛÛÁõ ïäõÅÛ …ÛÈÛïõ ¶ÛäïõÉÛÛ¶Û¾ÛÛ× ¸ÛÜÁõ¨Û¾Ûé ™öé.      



NL-102 5 P.T.O.  

 Compute the amount of minimum alternative tax liability u/s 115 JB (MAT) in the 
following independent cases : 

 (1) Sham Ltd., a domestic company, has total income of ` 25 lakh as per the normal 
provisions of the Act. The book profit of the company, as per section 115 JB of the 
Act, are ` 105 lakh. 

 (2) Mohan Ltd. a domestic company has book profits as per section 115 JB of the Act 
are ` 108 lakh. Its total income as per the normal provisions of the Act is a loss. 

 (3) Jay ltd. a foreign company, has book profits as per section 115 JB of the Act, are                
` 103 lakh. Its total income as per normal provision of the Act is loss. 

 (4) Arti Ltd. a foreign company, has book profit as per section 115 JB of the Act are              
` 100 lakh. Its total income as per the normal provisions of the Act is a loss. 

 
4. (a) ïõÁõÈÛéÁõÛ …ÛýÛÛé›÷¶Û¶ÛÛ ÍÛ×þù½ÛÙ¾ÛÛ× ‘”ÛÁõà²ä×’ ïéõ ‘½ÛÛ¦éø¸Û¤éø’ ÁõÛ”ÛÈÛä× …×•Ûé¶ÛÛé Ü¶Û¨ÛÙýÛ ÍÛ¾Û›ÛÈÛÛé. 
  Explain “Make or Buy” decision in the context of tax planning. 7 

…¬ÛÈÛÛ/OR 

  …éîÍÛÅÛ ï×õ¸Û¶Ûà ›æ÷¶ÛÛ ýÛ×ªÛ¶Ûà ›÷•ýÛÛ…é …éïõ ¶ÛÈÛä× ýÛ×ªÛ ”ÛÁõàþùÈÛÛ¶Ûà ýÛÛé›÷¶ÛÛ ¼Û¶ÛÛÈÛé ™öé ›÷é …×•Ûé¶Ûà 
¾ÛÛÜÐü©Ûà ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 

  ›æ÷¶Ûä× ýÛ×ªÛ : 
   ›æ÷¶ÛÛ ýÛ×ªÛ¶Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û  ` 2,20,000 

   ¼ÛÛïõà Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ 5 ÈÛÌÛÙ 
  ¶ÛÈÛä× ýÛ×ªÛ : 
   ýÛ×ªÛ¶Ûà Ýïõ¾Û©Û   ` 4,80,000 

   Š¸ÛýÛÛé•Ûà …ÛýÛäÌýÛ  5 ÈÛÌÛÙ 
   ½Û×•ÛÛÁõ Ýïõ¾Û©Û   ` 19,000 

  ïõÛé¸ÛÛëÁéõ¤ø ïõÁõÈÛéÁõÛ þùÁõ  32.445% 

  ¾Ûæ¦øà ¸Û¦ø©ÛÁõ 10% 

  ¶ÛÈÛÛ ýÛ×ªÛ¶Ûé ïõÛÁõ¨Ûé –ÛÍÛÛÁõÛ ¸ÛÐéüÅÛÛ×¶ÛÛé ¶ÛºõÛé ` 80,000 ÈÛµÛÉÛé. 
  ¾ÛÉÛà¶Û ¼ÛþùÅÛÈÛÛ …×•Ûé …Û¸Û¶ÛÛé …Ü½Û¸ÛóÛýÛ …Û¸ÛÛé. 
  Excel Co. is planning to purchase new machine in place of old machine. 

Information are as under : 
  Old Machine : 
   Market value of old machine  ` 2,20,000 
   Remaining useful life 5 years 
  New Machine : 
   Cost of machine  ` 4,80,000 
   Useful life  5 years 
   Scrap value   ` 19,000 
  Corporate tax rate  32.445% 
  Cost of Capital 10% 
  Due to new machine profit before depreciation will increase by ` 80,000. 
  Give your opinion about replacing the machine. 
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 (b) •Û¾Ûé ©Ûé ¼Ûé ¶ÛÛ ¤æ×øïõ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé.  4 
  Answer in brief (any two) :   

  (1) ï×õ¸Û¶Ûà …éÍÛéÍÛà…é …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¶ÛÛ ÈÛéÁõÛ¶ÛÛ Ðü¸©ÛÛ …¶Ûé ©ÛÛÁõà”ÛÛé ›÷¨ÛÛÈÛÛé. 
   Describe due dates and instalments of advance payment of tax for company 

assessee. 

  (2) ¶Ûà˜Ûé¶Ûà ¾ÛÛÜÐü©Ûà ¸ÛÁõ¬Ûà …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¶ÛÛ ÈÛéÁõÛ¶Ûà •Û¨ÛªÛà ïõÁõÛé : 
    ¸Û•ÛÛÁõ¶Ûà …ÛÈÛïõ ` 3,00,000 

    ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶Ûà …ÛÈÛïõ ` 50,000 

    ïõÅÛ¾Û 80 C Ðéü¥øÇ ÁõÛéïõÛ¨Û ` 70,000 

    ¾ÛæÇ Í¬ÛÛ¶Ûé¬Ûà ïõÁõïõ¸ÛÛ©Û ` 20,000 
   Calculate Advance tax from following information : 
    Income from salary ` 3,00,000 
    Income from house property ` 50,000 
    Investment u/s 80 C ` 70,000 
    Tax deduction at source ` 20,000 

  (3) ÈýÛÛ›÷¶Ûà •Û¨ÛªÛà ïõÁõÈÛÛ …×•Ûé¶Ûà ÜÈÛÜµÛ ÍÛ¾Û›ÛÈÛÛé. 
   Explain procedure for calculation of Interest. 

 (c) …éïõ ïéõ ¼Ûé ÈÛÛîýÛ¾ÛÛ× ›÷ÈÛÛ¼Û …Û¸ÛÛé. (•Û¾Ûé ©Ûé ªÛ¨Û) 3 
  Answer in one or two lines (any three) : 

  (1) …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ¶ÛÛ ÈÛéÁõÛ¶Ûà ¶ýÛæ¶Û©Û¾Û Áõïõ¾Û ïéõ¤øÅÛà ÐüÛéÈÛà ›Ûéˆ…é ? 
   What are minimum amount for Advance Tax ? 

  (2) ÍÛÁõïõÛÁõ ³ùÛÁõÛ ˜ÛæïõÈÛÛ©ÛÛ ÈýÛÛ›÷ ¸ÛÁõ¶ÛÛé ¾ÛÛÜÍÛïõ ÈýÛÛ›÷¶ÛÛé þùÁõ ÉÛä× ™öé ? 
   What is monthly rate of interest to be paid by Government ? 

  (3) ÈýÛÛ›÷¾ÛÛ× –Û¤øÛ¦øÛé ïõÁõÈÛÛ¶Ûà ÍÛ«ÛÛ ïõÛé¶Ûé ™öé ? 
   Who is assigned power to reduce interest ? 

  (4) ¾ÛÐéüÍÛæÅÛà ”Û˜ÛÙ¶Ûà ÈýÛÛ”ýÛÛ …Û¸ÛÛé. 
   Give definition of Revenue Expenditure. 
 
5. ¶Ûà˜Ûé …Û¸ÛéÅÛ ÜÈÛïõÅ¸ÛÛé¾ÛÛ×¬Ûà ÍÛÛ˜ÛÛ ›÷ÈÛÛ¼Û ÅÛ”ÛÛé :  14  
 From the following options write correct answer :  
 (1) ÜÉÛ“Û¨Û Š¸ÛïõÁõ ÅÛéÈÛÛ ¸ÛÛªÛ ™öé   
  (a) …ÛÈÛïõÈÛéÁõÛé + ÍÛÁõ˜ÛÛ›÷Ù ¸ÛÁõ (b) …ÛÈÛïõÈÛéÁõÛ ¸ÛÁõ 
  (c) ÍÛÁõ˜ÛÛ›÷Ù ¸ÛÁõ (d) ¾ÛÛµýÛÜ¾Ûïõ …¶Ûé Š˜˜Û ÜÉÛ“Û¨Û Š¸ÛïõÁõ ¸ÛÁõ 
  Education cess is leviable on 
  (a) Income Tax + Surcharge  (b) Income Tax 
  (c) Surcharge (d) Secondary and Higher Education Cess 
 (2)  ÁõÐéü¥øÛ¨Û¶ÛÛé þùÁõš›Ûé •Û¨ÛÛýÛ ™öé 
  (a) ¸ÛÛ™öÅÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø (b) …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ ¾ÛÛ¤éø 
  (c) ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ ¾ÛÛ¤éø (d) ÜÐüÍÛÛ¼Ûà ÈÛÌÛÙ ¾ÛÛ¤éø 
  Residential status is to be calculated for 
  (a) Previous year (b) Assessment year 
  (c) Financial year (d) Accounting year 
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 (3)  ïõÛýÛþéùÍÛÁõ ¸ÛóÛéÜÈÛ¦ø¶¤ø º×õ¦ø ”ÛÛ©Ûé ›÷¾ÛÛ ÈýÛÛ›÷ 
  (a) ÍÛ×¸Ûæ¨ÛÙ ïõÁõ¾Ûäî©Û (b) ÍÛ×¸Ûæ¨ÛÙ ïõÁõ¸ÛÛªÛ 
  (c) 9.5% ÍÛäµÛà ïõÁõ¾Ûäî©Û (d) 10.5% ÍÛäµÛà ïõÁõ¾Ûäî©Û 
  Interest credited to statutory provident fund shall be  
  (a) Fully exempt (b) Fully taxable 
  (c) Exempt upto 9.5% (d) Exempt upto 10.5% 
 (4)  ¾Ûæ¦øà ¶ÛºõÛé ÐüÍ©ÛÛ×©ÛÁõ¨Û¬Ûà ŠþÕù½ÛÈÛé ™öé. 
  (a) ïõÛéˆ¸Û¨Û ¾Ûæ¦øà Ü¾ÛÅÛïõ©Û (b) ˆÜîÈÛ¤øà ÉÛéÁõ 
  (c) ºõî©Û ¡öÈÛéÁõÛ©Û (d) ïõÛéˆ¸Û¨Û ¶ÛÜÐü 
  Capital gain arises from the transfer of 
  (a) Any capital assets (b) Equity share 
  (c) Jewellery only (d) None of above 
 (5)  ïõÅÛ¾Û 80 C Ðéü¥øÇ ïõ¸ÛÛ©Û¸ÛÛªÛ ÈÛµÛä¾ÛÛ× ÈÛµÛä Áõïõ¾Û  
  (a) ` 1,00,000 (b) ` 1,80,000 
  (c) ` 2,40,000 (d) ` 2,00,000 
  Deduction u/s 80 C is allowed for the maximum amount of  
  (a) ` 1,00,000 (b) ` 1,80,000 
  (c) ` 2,40,000 (d) ` 2,00,000 
 (6)  ïõÅÛ¾Û 80 C Ðéü¥øÇ ¸ÛÛéÅÛàÍÛà ¸ÛÁõ¶Ûä× œ×÷þù•Ûà¶ÛÛ ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û¶Ûà ïéõ¤øÅÛà Áõïõ¾Û ÈÛµÛä¾ÛÛ× ÈÛµÛä ïõ¸ÛÛ©Û 

©ÛÁõàïéõ ¾Û›÷Áéõ ¾ÛÇà ÉÛïéõ ? 
  (a) ïõÛéˆ Áõïõ¾Û ¾Û›÷Áéõ ¶Û ¾ÛÇé (b) ÈÛà¾ÛÛ ¸ÛÛéÅÛàÍÛà¶ÛÛ ºõî©Û 20% ÍÛäµÛà    
  (c) ÈÛà¾ÛÛ ¸ÛÛéÅÛàÍÛà¶ÛÛ 10% ÍÛäµÛà (d) ¾ÛýÛÛÙþùÛ ÜÍÛÈÛÛýÛ ïõÛéˆ¸Û¨Û Áõïõ¾Û 
  Under section 80 C, what is the maximum amount allowed as deduction in respect 

of Life Insurance Premium on the policy ? 
  (a) No deduction is to be allowed 
  (b) Only upto 20% of the policy amount 
  (c) Upto 10% of policy amount 
  (d) Any amount without restriction 
 (7)  ïõÅÛ¾Û 80 E Ðéü¥øÇ ïõ¸ÛÛ©Û ©ÛÁõàïéõ ¾ÛÇÈÛÛ¸ÛÛªÛ Áõïõ¾Û  
  (a) ` 20,000 (b) ”ÛÁéõ”ÛÁõ Áõïõ¾Û 
  (c) ` 25,000 (d) ` 40,000 
  U/S 80 E the deduction is allowed for the amount of  
  (a) ` 20,000 (b) Actual amount 
  (c) ` 25,000 (d) ` 40,000 
 (8)  ïõÅÛ¾Û 80 G G Ðéü¥øÇ ÈÛµÛä¾ÛÛ× ÈÛµÛä ïõ¸ÛÛ©Û ¾ÛýÛÛÙþùÛ  
  (a) ¾ÛÛÜÍÛïõ ` 5,000 (b) ¾ÛÛÜÍÛïõ ` 2,000  
  (c) ¾ÛÛÜÍÛïõ ` 1,000 (d) Š¸ÛÁõ ¸Ûíéïõà ïõÛéˆ ¶ÛÜÐü 
  The maximum deduction U/S 80 GG shall be limited to 
  (a) ` 5,000 per month (b) ` 2,000 per month 
  (c) ` 1,000 per month (d) None of above 
 (9)  …ÛÈÛïõÈÛéÁõÛ µÛÛÁõÛ ¾Ûä›÷¼Û ï×õ¸Û¶Ûà ÍÛ×¼Û×ÜµÛ©Û ïõÁõÈÛéÁõÛ …ÛéÇ”ÛÛýÛ ™öé 
  (a) ¸Ûó©ýÛ“Û ÈÛéÁõÛ (b) ïõÛé¸ÛÛëÁéõ¤ø ÈÛéÁõÛ 
  (c) ¸ÛÁõÛé“Û ÈÛéÁõÛ (d) ÈýÛÜî©Û•Û©Û ÈÛéÁõÛ 
  As per Income Tax Act, the tax related to company is known as 
  (a) Direct Tax (b) Corporate Tax 
  (c) Indirect Tax (d) Individual Tax 
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 (10)  ïõÅÛ¾Û 115 JB (MAT) …¶ÛäÍÛÛÁõ …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ÅÛ–Ûä«Û¾Û ÈÛíéïõÜÅ¸Ûïõ ÈÛéÁõÛ¶ÛÛé ¶Ûé¤ø 
þùÁõ ™öé 

  (a) 15.45% (b) 19.055% 
  (c) 18.54% (d) 12.36% 
  At present for A.Y. 2013-14 the net rate of tax as per section  is  
  (a) 15.45% (b) 19.055% 
  (c) 18.54% (d) 12.36% 
 (11)  …ÛÈÛïõÈÛéÁõÛ µÛÛÁõÛ ¾Ûä›÷¼Û ï×õ¸Û¶Ûà¶ÛÛé ÁõÐéü¥øÛ¨Û¶ÛÛé þùÁõš›Ûé 
  (a) ÁõÐüàÉÛ …¬ÛÈÛÛ ÍÛÛ¾ÛÛ¶ýÛ ÁõÐüàÉÛ  
  (b) ÁõÐüàÉÛ …¬ÛÈÛÛ Ü¼Û¶ÛÁõÐüàÉÛ 
  (c) Ü¼Û¶ÛÁõÐüàÉÛ …¬ÛÈÛÛ ÁõÐüàÉÛ ¸ÛÁ×õ©Ûä ÍÛÛ¾ÛÛ¶ýÛ ÁõÐüàÉÛ ¶ÛÐüá  
  (d) ÁõÐüàÉÛ …¬ÛÈÛÛ ÁõÐüàÉÛ ¸ÛÁ×õ©Ûä ÍÛÛ¾ÛÛ¶ýÛ ÁõÐüàÉÛ ¶ÛÐüá 
  As per Income Tax Act, the residential status of a company can be either  
  (a) Resident or ordinary resident 
  (b) Resident or non-resident 
  (c) Non-resident or resident but not ordinary resident 
  (d) Resident or resident but not ordinary resident 
 (12)  ¶Ûà˜Ûé¶ÛÛé ÍÛ×˜ÛÛÅÛïõàýÛ Ü¶Û¨ÛÙýÛ ™öé 
  (a) ¼Û¶ÛÛÈÛÈÛä× ïéõ ”ÛÁõàþùÈÛä× (b) ½ÛÛ¦éø ¸Û¤éø ÁõÛ”ÛÈÛä× 
  (c) Ðü¸©ÛÛ ¸Û±ùÜ©Û…é ”ÛÁõàþùÈÛä× (d) Š¸ÛÁõÛéî©Û ©Û¾ÛÛ¾Û  
  Following is a Managerial Decision. 
  (a) Make or buy (b) On lease 
  (c) Purchase by Instalment (d) All above 
 (13)  ÈýÛÜî©Û ïõÁõþùÛ©ÛÛ…é …•ÛÛŠ¬Ûà ˜ÛæïõÈÛÈÛÛ ¸ÛÛªÛ ÈÛéÁõÛ ¾ÛÛ¤éø¶Ûà ïõˆ ©ÛÛÁõà”ÛÛé ›÷ÄõÁõà ™öé ? 
  (a) 15 ›æ÷¶Û, 15 ÍÛ¸¤éø¾¼ÛÁõ, 15 Ü¦øÍÛé¾¼ÛÁõ, 15 ¾ÛÛ˜ÛÙ 
  (b) 15 ¾ÛÛ˜ÛÙ …¶Ûé 31 ¾ÛÛ˜ÛÙ 
  (c) 31 ¾ÛÛ˜ÛÙ …¶Ûé 31 ›ä÷ÅÛÛˆ 
  (d) 15 ÍÛ¸¤éø¾¼ÛÁõ, 15 Ü¦øÍÛé¾¼ÛÁõ, 15 ¾ÛÛ˜ÛÙ 
  On which dates the individual assessee is required to pay advance tax ? 
  (a) 15th June, 15th Sept, 15th December and 15th March 
  (b) 15th March and 31st March 
  (c) 31st March and 31st July 
  (d) 15th Sept, 15th December, 15th March 
 (14)  ¾Ûæ¦øà ¾ÛÛÇ”ÛÛ ¾ÛÛ¤éø ¶ÛÛ¨ÛÛïõàýÛ ¸Û¦ø©ÛÁõ …é …ÍÛÁõïõÛÁõïõ ¸ÛÜÁõ¼ÛÇ ™öé 
  (a) ”ÛÛé¤ä×ø (b) …µÛäÂ×ú 
  (c) (a) …¶Ûé (b) ¼Û×¶Ûé (d) ÍÛÛ˜Ûä× 
  Financial cost is effective factor for capital formation 
  (a) False (b) Incomplete 
  (c) Both (a) & (b) (d) True 
 

____________ 


